Bahawalpur Board-2024

Mathematics (A) L.K.No. 1468 Paper Code No. 8191
Paper |l ( Objective Type ) | Inter ( I** - A - Exam 2024 )

Time 30 Minutes Inter ( Part-|l) Session (2020 - 22) to (2022 - 24)
Marks : 20

Note :—Four choices A, B, C,D to each question are given. Which choice is correct fill that circle in
front of that Question No. on the Objective Bubble Sheet. Use Marker or Pen to fill the circles. Cutting
or filling two or more circles will result in Zero Mark in that Question.

Q.No | A function of theformf(x,y)=0is called : >
1 (1) | (A)Parametric Function (B) Identity Function (C) Explicit Function (D) Implicit Function
(2) 2e* a% pakc|ty org%o (A) Sinx (B) Cos x (C) Sinhx (D) Coshx
(3) hmx_,af—(%:{l(—l is equal to : @AW B0 © @ D) Q)
@ (L LY, . 1 —a a .
ol ) L equalto: (A) rp— b)z (8 ) ot B (C) (ax + b)? (D) In(ax+b)
(5) | perivative of Sinzx with respect to Coszx is: (M -1 (B) 1 (C) tanx (D) cotx
(6) o .
Derivative of Sinh "x with respecttox is :
1 1 -1 -1
A B C) —— D) —
(a) Vi-x2 ( )\/1+x2 ( )\/1—xz (®) V1+ x2
(M |Fornz-1, [x"dx = :
n+1 i‘l
(A) +c (8) x +c(@ Cic (D) —+c
(8) [Sec’nxdx = : (A) Zsecnx+c (B) ntann +QC) tannx +c (8) ltan nx+c
: m&\ "
{(9) | When expression VxZ — a? 'nvolve in %{1 we substitute :
' ( Qsﬂ% (B) x = asin® (C) x = atan@ (D) X =sin®
(10) ) 1 . N\ n n T
Lo 1oz dx=: @@ W e ©I o 2
(11) |!f Distance of point (5, x)ffof - axis is 3 then x = : (A) 7 (B) 5 (t) 3 (D) -5
If ‘a’ isinclinatio ne ‘4’ then it must be true that :
(12) o
(A) 05a<§ (B)';t sa<n (C)0sas2n (D)0<a<n
(13) | !flines are parallel then pointof intersections are :
(A) Does not exist (B) Finite (C) Infinite (D)BothBandC
{14) | A Feasible Solution which maximize or minimize the objective function is called :
(A) Solution (3) Optimal Solution (C) Minimum Solution (D) Maximum Solution
(15) | Axis of Parabola = day is : (A) y=0 (B) x=y (& x=0 (D) y=—x
(16) | Length of major and minor axis of ellipse x i 16y =16 is:
o (A)4,1 (B) 10,5 (C) 16,2 (D) 8,2
(17) | If eccentricity e > 1 then the conicis :
(A’ Hyperbola (B) Ellipse (C) Circle (D) Parabola
(18) Direction Cosines of y - axis are :
(A) (1,0,0) (B) (0,1,0) (€) (0,0,1) (D) (0,0, O)
(19) |la xb|=:
©
(A) Area of Triangle (B) Area of Circle (C) Area of Parallelogram (D) Area of Trapezium
(20) | Projection of Vector r = ai + bj + ck on x — axis is :

Ra@ b (€ c D) Va@ ¥ b2+ &
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Bahawalpur Board-2024

Roll No. L.K. NO.1468— Inter (Part 11) Session
20000 (2020 =22 ) to (2022 - 24)

Mathematics ( Subjective) | Inter (I** - A - Exam 2024) Time 2: 30 Hours Marks : 80

Note : It is compulsory to attempt any (8 — 8) Parts each from Q.No. 2 and Q.No.3 while attempt any (9) Parts
from Q.No.4. Attempt any (3) Questions from Part - Il .Write same Ouestion No. and its Part No. as given in
the Question Paper.

Part-1 25x2=50

Q.No.2 | (i) | Show that the Parametric Equations x = at , Y = 2at represent the Parabola y = 4ax

(i) 2-3x
Evaluate Llril_)_ vy c@ pakcity. org%o

() | evaluate Lim,_,( % )*

(iv) | Express the Perimeter “P “of a (v) Diff - 2x-3 ith -
. respect to x
square as a function of its area A . rerankate 21 V! P
i) | pifferentiate xZSec 4x w.r.t the (vii) Find % if :

variable involved.
4x2+2hxy+ by2+2gx+2fy+c=0

wii) | Find ﬂ if x= at?andy=2at (i) | pifferentiate In(x2+ 2x)w.rt.’ x’

() | Findyzify=In( 3x:2 ) (xi) | Expand a" in the Maclaurin Series.
(xi)) | Find extreme values of f(x) = 3x2 N
Q.No3| () |Find 8yify=+x when’ x’changes | (ii) Ev @ ' zax‘*'b
from 4 to 4.41 0 ax+ 2bx+c

(i) | Evaluate [ Cosec x dx

OA@ Evaluate [tan1xdx

(v) | Evaluate f—11 (x13 +1)dx @C(vi) Find the area between the x-axis and

the curvey =4x- xz
d
(vii) | Solve the leferent(lzl\ E y e

X

(viii) | Find the Coordifates of the point that divides the join of A(-6,3)and
B(5,- the ratio 2 : 3 externally .

(ix) | The coordinates of a point ‘ P’ are (- 6,9 ). The axes are translated through

the point o (~3,2). Find the Coordinates of ‘ P’ referred to the new axes.

(x) | Convert 4x + 7y — 2 = 0 into intercept form.

(i) | Find the point of intersection of the lines x + 4y ~12=0and x-3y +3=0

- 2
(xii) | Find the lines represented by 6x° - 19xy + 15y =0

Q.No.4 | (i) | Draw the graph’;g,f. linear inequality 2x 2 -3 in xy — plane.

(ii) | Define the Optimal Solution.

(iii) | Find the Centre and Radius of the circle'x2 + yz__ 6x+4y+13=0

2
()} | write down equations of Tangent to circle x2 +y =25at(4,3)

(v) | Define Circle.

(vi) | Find an equation of Ellipse having Centre at (0,0), Focusat(0,~3)and
One Vertexat(0,4).

P.T.O.
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l__'-;K-N°- jacd Bahawalpur Board-2024

(vii)

. : i 2 ; N
Write equation of normal to the Parabola x = 16y at the point whose Abscissa is 8..

(viii)

0+22  (x-2)2
L

Find Centre and Vertices of conic 1

(ix)

Find a vector whose magnitude is 2 and is parallel to —i+j+k

(x)

Calculate the projectionof balong a ,when a=3i+j-k , b=-2i~j+

1=

(xi)

Find a vector perpendicular to each of the vectors a=2i+j+k , b=4i+2j~-k

(xii)

Write Direction Cosines of a vector r = xi + yj + zk

(xiii)

Find the volume of the parallelepiped determined by :

u=1_2j+3ko !=2_i."'j"'l_(.r ..V!=j+k

(Part—1) 3x10 =30
Q.No.5 | (a) 3x if x < ~-2 (5)
f fix) ={x*?—-1if-2 <x <2
Jif x =22 @@
Discuss Continuityatx=2and x=-2 OC@
: 25
(b) | Show that — =2 if L= ta @—) (5)
dx x x y
i 749
QNo.6 | (a) | If y=(cos X ) ,Prov@@f}( 1-x%) Y, - Xy1-2=0 (5)
QAo
(b) | Evaluate the int V4 — 5x2 dx (5)
F13 S
QNo.7 | () | Eyaluate fo@éos“tdt (5)
(b) | Maximize the function definedas ; f(x,y) = 2x+ 3y (5)
subject to constraints 2x+y<8 ; x+2y<14 ; x>0 ; y=0
Q.No.8 | (a) | gjng equation of the tangent drawn from (—1,2)to x2 + y2 +4x+2y=0 (5)
(b) | Prove that Perpendicular Bisectors of the sides of a triangle are Concurrent | (5)
Q.No.9 | (a) | Find the Centre, Foci, Eccentricity of Ellipse (5)

akcity.or %o
X’+16x+ 4y*-16y+76 = 0 “%ﬁ ty.org ‘

(b)

Find ‘h’ such that the pointsA(h,1), B (2,7) andC (—6,—7) are (5)
vertices of a Right Triangle with Right Angle at the vertex A.

=
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Mathematics (B) L.K.No. 1074 Paper Code No. 8193
Paper I ( Objective Type ) Ist - A - Exam 2023

Time : 30 Minutes Inter ( Part-1l) Session (2019 - 21) to (2021 ~ 23)
Marks : 20

Note : Four possible choices A,B,C,D to each question are given. Which cholce is correct fill that
circle in front of that Question No. Use Marker or Pen to fill the circles. Cutting or filling two or more
circles will result in Zero Mark in that Question.

Bahawalpur Board-2023

Q.No. | Length of Vector 2i —j -2k is : (A) 3 (B) -3 (¢ V5 (D) -V5
1(‘2? |Cosa_i_+.5‘inaj + 0K| = : (A) 0 B) 1 (¢ 2 (p) -1
(3) | The vertices of Hyperbola %z— % =1 0s:
(A) (0,+3) (B) (£3,0) (C) (0,+2) (D) (£2,0)
(4) | Co-Vertices of Ellipse -:-: - z—z =1;(a>b) are

(A) (0, a) (8) (£a,0)(c) (0,%b) (D) (£b,0)

(5)

Focus of the Parabola xz =-16y is :
(A) (0,4) (B) (0,-4) (C) (4,0) (D) (-4,0)

(6)

Length of Tangent from (1,1) to circle 'xz+y2—2x+ 3p+6 =0
W), 25® 2 (© 3 (o) a

(7) |(0,0)is not a solution of the Inequality : (|~
' (A) x-y<1 (B) Zx-!»\.ug,\{\\iiN -2x+y+1> 0 (D) —2x+y < -1
(8) | Equation of Horizontal Line through (a;B)Is :
(A) x B) x=b (C) y=a D) y=0b
Z V(”IO/) 1 ..1_.
(9) |Slope of line with Incllnafl\%{l A (A) 1 (8) 0 () - (O 75
(10) | The equation of line m+ PCoZecu = 1 is called :
(A) Symmetric (B) Intercept Form (C) Normal Form (D) Slope Intercept Form
(11) | The solution of differential equation xdy+ydx = 0 : :
(A) y=Inx+cB) y=In(cx) (C)y =ce* (D) xy = a
(12) | [e™*(Cosx—Sinx)dx = (A) e *Sinx+C (B) e~ *Cosx+(C
(c) —e " *Sinx+C (D) —e *Cosx+C
(3) | (™ Sinxdx = : (A) 1 (B) -1 (€) 2 (D) O
2
4 |p 8 (A) Inx+C (B) ~+ ¢ (C) In(Inx)+C (D) (’";) +c
xlnx x
(15) |1f f(x) = Sinx then f'(g) - (A) -1 () 0 (O 1 (D) oo
1 +2
(18) | T2 -‘-;-i;(Cos“x esiix) = W0 B) 1@ = O =
(17) % (e — e™*) = : (A) Sinhx (B) Coshx (C) 2Sinhx (D) 2 Coshx
-y
(18) | The derivative of xx+24 Is equal to : (A) -2 B 2 (¢ 1 (D) O
(19) |LiMy,e — = : (A) 0 (B o (0 1 (@ -1
x - g
(20) |A function f : x —> y defined by f(x) = a is called :

(A) Linear Function (B) Constant Function (C) Identity Function (D) Implicit Function

Bt —0— ol
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Bahawalpur Board-2023

Roll No. 1074 - 2.4 poo | Inter (Part 1) | Session (2019 21 ) to (2021 - 23)

Mathematics (Subjective ) Ist - A - Exam 2023 Time 2: 30 Hours Marks : 80

Note: It is compulsory to attempt any(8 — 8) Parts each from Q.No. 2 and Q.No.3 while attempt any (9) Parts
from Q.No.4. Attempt any (3) Questions from Part - Il .Write same Question No. and its Part No. as
given in the Question Paper.

o@pakcity.org:%o Part - I 25 x 2 =50

Q.No.2 | () | Define Even Function and give one example.

(ii) Without finding Inverse , state Domain and Range of f ~! where

fx) =2+Vx-1

(lii) | Indicate Solution Region by shading the Inequality 3x + 7y = 21

(iv) | Evaluate Limx_,ol—:—:—:s—zf (v) | Find Derivative of \/f by definition.

2 2 . dy . 2
(vi) | Differentiate -(-x?;-—_-!i-)— w.r.t. x i) | Find dx if x—4xy—-5y = 0

(viii) | Differentiate CosvVx + V/Sinx ) | If f(x)= In(VeZ* + e~2%)

wart! x ” then find f(x).

. 3 3 :
o |if y= Slnh_lg then find % (i) | If x = at”, y = bt , then find y;

(0
(xii) | Define Feasible Region and Feasible Soluﬁonﬁ\{&\é/

a.No.3 | () | Evaluate J‘_& dx (ig Evaluate [V1 + Sinx dx
ax? + 2bx + ¢ B KON
(W) | Evaluate [ e* ( Cosx -Sinx N e atuate [ —— dx
A xInx
3 4 3 dx
(v) | Evaluate 3+ 3x i
uate [, ( (\ov{) (vi) | Evaluate J.o 3¢5
Find the Int dx
(vii) n e Integra /-

i,

(viii) | Find Direcﬁ&ﬁ%asine of r = xi + yj + zk

(ix) | Find a vector of length 5 in the direction opposite that of v = ‘i\- 2; s 4 312

(x) |if a+b+c =0, then prove axb = bxc= cxa

A A N A A AA A
(xi) |Find @ so that ai + j, i+j+ 3k and 2i+j— 2k are Coplaner.

(xii) | Find the volume of Parallelepiped for u = 3-25‘ + 3k s
IS A
v=2i-j-k,w=j+k

Q.No.4 | (i) | The Coordinates of a point P are (~2,6).The axes are translated through
/’
the point O(—-3,2).Find the Coordinates of Point P referred to new axes.

(i) | By means of slopes show that the points A(-4,6), B(3,8),C(10,10)
lie on the same line.

(iii) | Find the equation of Horizontal Line through (7,-9)

(iv) | Find the distance between the parallel lines 3x—-4y+3 = 0, 3x-4y+7=0

(v} | Whether point P(5,8) lies above or below the line 2x-3y+6 = 0

(vi) | Find the Area of a Triangular Region whose vertices are
A(sla)l B(—Z,Z) ,C(Q,Z)

(vii) | Find the lines represented by 932+24xv+16vz =0

(viii) | Find the equation of a Circle centre at (5,-2) and Radius is 4
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(i) | Find the equation of Normal to the Circle x2+y2= 25 at (5Cosf,5Sin@)
(x} | Find the length of Tangent drawn from (- 5,4) to the Circle
5x° + 5y° — 10x +15y—131 = 0
(xi) | Find the Equation of Parabola with Focus{2,2) and Directrix is x = — 2
{xii} | Find Foci and Vertices of an Ellipse X+ 4\;2 = 16
(xiii) | Find the Equation of Hyperbola with Foci (+5,0), Vertex(3,0)
D@ pakcity.org %‘: (Part~1t) 3x10=30
- " L- el‘{x = 1 .
Q.No.5 | (a) | Evaluate the Limit m,._,o m y x<0 (5)
241
(b) | Differentiate w.r.t. x , Sec™! ( iz - 1) (5)
2
Q.No.6 | (a) | Evaluate fl—;mx dx (5)
ZEN
(b) | Find an Equation of the Perpendicular bise of’the Segment Joining
the points A(3,5) and B(9,8) O 5
OA% ( )
Q.No.7 | (a) | Find the area between the x-— \End the curve y = V2ax — x2
When a > 0 (5)
<
(b) | Graph the feasible regiorvof the following system of Linear Inequalities
and find the r Points
2x + 3y
X+4y < 12
3x+y < 12
x>0, y=0 (5)
d%y dy
Q.No.8 a - X er i . : 5
@) |1f y = e Sinx , then show that Tz de +2y=0 (5)
(b) | Find an Equation of the Circle passing through A(3,-1),B(0,1)
and having Centre at 4x—-3y—-3 = 0 (5)
Q.No.9 | (a) | Find the Focus, Vertex and Directrix of Parabola . Sketch the graph
X —4x -8y +4 =0 (5)
(b) | By Vector Method, prove that in any Triangle
b2 = 2+ a’ - 2cacosB (5)

E=a—a—au
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Mathematics [ (D) J L.K.No. 1312 Paper Code No. 8197

Paper i ( Objective Type ) | Inter - A — 2022
Time : 30 Minutes Inter (Part-1l) ] Session (2018 - 20) to (2020 - 22)
Marks : 20 Bahawalpur Board-2022

Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct fill that
circle in front of that Question No. Use Marker or Pen to fill the circles. Cutting or filling two or more

circles will result in Zero Mark in that Question.

Q.No.1 _ l n _ . . 2 -1 :1
. Lim,, ., (1 n) = 3 (A) e B e () e (D)
(2) [if f(x)= — then f(2) = (A) -1 (B) 1 (¢ 0 (D) -2
(3) %( ) =: @) ny™ 1 (g ny"+1 © ny*1 y (o) ny™1 ‘%
@ | Lim, (e"';i (A) 1 (B 0 () e (D) oo
(5) %C otax = (A) Cosec’ax (B) aCosec ax (C) - aCosec ax (D) —aCosecax
6 | [3*dx = (A) — (a) g~ l% I —5 (D) 3%
dx x+a 1 2 2.
| N | [5—=-= P - X Tan1 -+(:(B) - W) 2o T (D) Zin(a"+x")
a“+x -a a
@ |-G =: (A) B3 (B) 3* (0 x3* @ 37
AN
) | [e*(Cos x+ Sinx)dx=*

—e*sinx (B) e*Cosx (C) —e*Cosx (D) e*Sinx

(10)

Slope of the lin%@ﬁ+c=o 5 W e S @ 3 o2

(11) | Distance of the point (2,3) from y-axisis : (A) 4 (B) 2 (C) -2 (D) 5
12) | [ Sinxdx = : A0 () 9 (O 1 (D) 2
(13) | Equation of Horizontal Line through (7,-9) is :

(A) y=-~9 (B) y=7 (C) x=-9 (D) x=7

(14) | A Circle is called a point circleif : (A) r=1 (B) r=0 (C) r=2 (D) r=3
(15) |1f my and m, are the slopes of two lines, then lines are perpendicular if

(A) mm;=0 (B) mmy+1 =0 (C) mmy+2 =0 (D) m=m,
(16) | The point (-1,2) satisfied the inequality :

(A) x-y>4 (B) x-y=24 (C) x+y<4 (D) x+y>5

(17)

The length of Diameter of circle X + vz =9 is : (A) 6 (B) 3 (C)V3 (D) 9

(18)

The non-zero vectors a and b are parallel if ax b =

(19)

(A) 1 (B) —1 (¢) 0o (D) 2
jxk = % % @ i (B -i (© 0 (@ k

(20)

Eccentricity of an Ellipse is : (A) e=0 (B) e>1 (C) 0<e<1 (D) e =1

[ et e =]
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Roll No. 1312 - | Sooe Session (2018 ~20 ) to (2020 - 22) | Inter (Part = 1i)

Mathematics (Subjective ) | inter — A — 2022 | Time 2 : 30 Hours Marks : 80

. Note: Itis compulsory to attempt any(8 - 8)Parts each from Q.No. 2 and Q.No.3 while attempt any (9) Parts
from Q.No.4. Attempt any (3) Questions from Part — Il .Write same Question No. and its Part No. as

given In the Question Paper. Bahawalpur Board-2022

o@pakclty org%o Part - I 25x2 =50

Q.No.2 | (i) Express the volume v of a cube as a function of the area of its base.

(i) [f f(x) = |x— 5| then find Left Hand and Right Hand limits of f(x) at x =5

- -1
(iii) | Find Domain and Range of f . without finding inverse of f{x) if f(x)= -xT‘ , X¥ 4

2.3 1-Cos2x
(W) |Find f(x)  f(x)= x"inZ ) | Find the imit Lim,_ o ——
(vi) | Differentiate ol Wit *a” i) | If x = at> and y = 2at then find %
> x3-8 3 2 3 -
(vili}) | Find the Lim,_; -— 224 %6 (ix) | y +3ax +x =0, then find y,.
(ul Define Critical Value and Critical Point. (ﬂ) Find derivative of (K3+1,g wrt “x

(xi) | Differentiate : st 2 wan, wg»
. aON

30 &7
QNo.3 | (i) | use differential to approximate the value of C .
. A

() |Find 8y and dy of y = x*-— 1{9(\@@'5% changes from 3 to 3.02.

(i) | Using differentials find Q andsﬁga> Xy — Inx = ¢
(iv) | solve the differential equa@@ex + e™* ) = - e
™ | Evaluate J‘ (vi) |Evaluate [—— = dx
v 4+x?
T
(vii) | Evaluate T\fB”xz + 1)dx (vili) | Evaluate [, /3 Cos?0 Sin6 do
(ix) | Find an equation of line through (x) | By means of slopes, show that the
(-5,-3),(9,-1) points (-1,-3),(1,5),(2,9) lieon
the same line.
(xi) | Find the distance from the point (xi) | Find the lines represented by
P(6,-1) to the line 6x-4y+9 = 0 2 + 3xy - 5y> = 0

Q.No.4 | (i) | Define an Objective Function.

(i) | Graph the solution set of Linear Inequality in xy—~plane : 3y~ 4< 0

(ii) .| Find the equation of circle with centre (V2 , -3 \/§ ) and Radius 22

(iv) | Find the Centre and Radius of a circle xz + yz +12x -10y = 0

(v) | Find the equation of Tangent to the circle L % y’ = 25 at point (4,3)

(vi) | Find Focus and Directrix of Parabola x- = 4(y-1)

(vi) | Find Centre and vertices of the ellipse 9x2 B yz = 18

2 2

vill) | Find the Eccentricity and Foci of Hyperbola — -~ — =
(vill) | Find th city and Focl of Hyperbol ;'6 ==

(x) | Write the vector PQ in the form of xi + yj when P =(2,3),Q=(6,-2)
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(x)

Find a so that laf+(a+1)}+2f2l=3

(xi)

Find the Direction Cosines of the vector ¥ = 3? - ; % 212

(xif)

-

Find the Cosine of Angle between u = [2,-3,1], ¥ = [2,4,1]

(xiii)

Find the value of 35. K x i

a@pakc:lty org%o (Part—11) 10 x 3 = 30

Q.No.5

(a)

Evaluate Lim
20 pony

(5)

(b)

_ 1 dy -
If y= vVx = show that Zxdx-i-y = 2\/x

(5)

Q.No.6

(a)

=
oS

1+ Sinx)
X |~
Evaluate [ e (1 o

(5)

(b)

Find equations of two paraliel lines ehdicular to 2x-y+3 = 0
such that the product of the intercepts of each is 3.

(5)

Q.No.7

(a)

Evaluate f,, = Stix)

o

(5)

(b)

Minimize @ﬁ)ﬁy s

subject to the constraints

3x+5y > 15 ; x+6y=>9 ; x=0;y=20

()

Q.No.8

(a)

Find a joint equation of the straight lines through the origin and

perpendicular to the lines represented by xz+xy—6v2 =0

(5)

(b)

Show that the circles xz +yz +2x-2y-7 =0 and

X+ vz -6x+4y+9 =0 touch externally

(5)

Q.No.9

(a)

2 2

x
Find Equations of the Tangents of the Ellipse 128 + A 1 which are

parallel to the line 3x+8y+1 = 0 .Also find the points of Contact.

(5)

(b)

Prove that Sin(a + )= SinaCosp+ CosaSinp

(5)

E=——r=cl
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Mathematics (D) L.K.No. 1312 Paper Code No. 8197
Paper |l ( Objective Type ) Inter - A~2021 Session (2017 -19) to (2020 - 22)
Time : 30 Minutes __Intor [ Doark 13—
ERE e - ¢ 6 (D) O
aNod|yim . J24+ x+4 = (A) 4 (B) 4 (©)
(1) S =T 1
m.. (D)
(2) ;} (Sin"lx) = (A J1- 22 (8) 1+x2 (C) 1+ 22 J1- x2
— Cc 'C) tanx (D) Secx
(3) _d_(_ginx)z (A) —Cosx (B) Cosx (
- 2 © 2 o =
Smax . A gl (B) 1 i
(4 | Limyoo Grpe = N b b
| ¥ x“ — fi —- is the Maclaurin’s Series Expansion of :
(5) z_ 6!
3 X 2x
a@pakcny 0'-9%ED (A) Sinx (B) Cosx (C) e (D) e
0 1
(6) f—-dx : (A) E—-+c (B) J-r—+c<{®—+cm) ik + C
x
(7) ftanzx dx =: (A) 2tanx + ¢ (B) tan&é\r&ﬂ:}) tanx+x+c (D) tanx—x+¢C
@3 @ xa o) =
’ % Ina (B) a xa —
(8) |1if f(x)= @ then f(x) - % s
(9) fCosecxdx : ( (%;asecx(:otx+c (B) In (Cosecx—Cotx)+C
?) n( Cosecx+ Cotx)+C (D) In(Secx + tanx) + C
N 1 =1
(10) | slope of line Zyw is § (A B 2 (€ — (D) -2
(11) | The distance of the point (2,3) from y—axis is : (A) 3 iBl/2 () —2 (D) -3
(12) | [ € (Cosx + Sinx)dx
(A) e*Sinx + C (8) e*Cosx + € () —e*Cosx + C (o) — e*Sinx+ C
(13) | Point Slope form of equation of Straight line is :
() y=mx+c (B y-yi= mx-x) (€ =+ 3 =1 (D) xCosa+ ySina = P
(9 |k x ) : (A i @® =i (© 1 (© o
(15) [1f u = 2i— j+4k then u x v : (A) 8 (8) 1 () -1 (D) O
(16) | Which of the following is the solution of inequality x + 2y < 6
(A) (4,1) (8) (1,3) (€) (3,3) (D) (1,4)
(17) [if v = i-j - k then [¥] : (A) v3 (B) 3 (€ 9 (D) 1
2
(18) [ The equation ;— - %5 = 1 represents : (A) Hyperbola (B) Circle (C) Parabola (D) Ellipse
(19) | The Conic is a Hyperbola if Eccentricity is : (A) e = 1 (B) 0<e<1 (C) e>1(D)e = %
(20) | pirectrix of the Parabola xz = —4ay is : (A) x=a B) x==a (C) y=a (D) y = -
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Bahawalpur Board-2021

| Roll No. 1312- Moo Session (2017 19 ) to (2020 - 22) | Inter (Part - 1) [
| Mathematics (Subjective ) | Inter— A-2021 | Time 2: 30 Hours Marks : 80 [ |
Note: Itis compulsory to attempt any(8 — 8)Part< Emin S S 25x2=>50
from N N~ & =o- | im____j‘l" l J
2 . o = = ind the values
Q.No.2 | () |Given f(ﬂ:.xg-ax +bx+1, if f(2)= -3 and f( 1) = 0 find the va
d b.
of a an — : - ok
(i) Evaluate Limx__’BT:E-_-'—J‘_; (iii) | Evaluate lmx-éo sz:
Lo dy o N ; f v= Jx +—
(iv) | Find o if y = s (v} | Find yz if Y Vx &
2
+1
: d -1 1 (i) | pifferentiate £
(vi) hat —Sec” "X = are -
Prove that T ixI\/x_Z:i X 3
2 . . -1 _
(viii) | Find f(x) if (ix) | For real valued function f, find f~(-1)
3 2x+1
f(x) = In(Ve** +e %) fix)= —7 x>1
o xi) | Differentiate w.r.t. ‘x” ;
(x) | Differentiate w.r.t.”x’Sin V1 - x? ( o
y = e Sian

2 2 dy \/@
i = - = 4
(xii) [If y= x +2x +2 prove that s X y/\<§

2
Q.No.3 | () |Find 8y of y = f(x) = x , when x ?\A%\(\aéé))dx :
(i) | Find the area between the x—axiswurve y=x+1fromx=1t x = 2
(iii) | show that the points A(O, 2)/3@-\21) and C(0,-2)are vertices of right triangle.
(iv) | Check whether the pomt@@’f lies above or below the line 2x-3y+6 = 0

\/V . 2
o | evaluate: [—— g@@d i) | Evaluate [ Sin’x dx

(vii) | Evaluate @nx dx (viii) | Evaluate J'lz( x? + 1)dx

0.01

(x) | Solve the Differential Equation

1

(ix) = dy o 1-x

Evaluate [(2x + 3 )z dx e -
o) Find an equation of vertical line (il Find the equation of lines
Xu
| through (-5, 3) represented by 3x2+7xy +2y° = 0
Q.No.4 | (i) | Graph the Solution Set of 2x+y < 6
2 2

: x

(i) | Find the Centre and Foci of ks -J;;- =1 G‘% pakClty OI'Q%O
(i) | Find the Centre and Radius of Circle Sx + Sy + 14x +12y - 10 =

(iv) | Write the equation of Tangent and Normal to the circle xz + y = 25 at (4,3)
(V) | Find the Focus and Vertex of the Parabola xz = —16y

(Vi) | Find point of Intersection of Conics X +y = 8 and -y =1

(vii} | Find equation of Parabola if Focus is (=3,1) and Directrix x = 3

V3.

(viii) | Find a Unit Vector in the Direction of v

25
z L% 73
(ix) |Find a, so that |ai + (a+1)j + 2k|= 3

() | Find Cosine of angle between the vectors u = [2,-3,1] and v= [ 2,4,1]
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(xi) | Find Area of Parallelogram with vertices A(1,2,-1),B8(4,2,-3), C(6,-5,2)
and D(9,~5,0)

i) | find ¢ f i —J+k, i -2_1 — 3k and 3i = aj.+ 5k are Coplanar. (

(xiii) | Find the Direction Cosines of vV = 3i — J + 2k

(Part—11) % pakcity.org %o

Q.No.5 | (a) [ Find values of m and n so that (5)
mx if x< 3
f(x) = n if x=3
-2x+9 if x >3
is continuous at x = 3

b 2 1w a _ _ (5)
() [1f tany(1 + tanx) = 1 - tanx,then shog@ =
Q.No.6 | (3) | gind [ Tan3x.Secx dx o v (5)
J e
(b) | Find h such that the pointsW]ﬁ),B(z,?) and C(-6,-7) are
the vertices of a nght U gle with Right Angle at the Vertex A. (5)

Q.No.7 | (a) | Evaluate f r(@l‘m)dx (5)

(b) | Minimize \y3x+y subject to constraints

3x+5y =2 15, x + 6y = 9 N0 -4 290 (5)

Q.No.8 | (a) | Show that the Circles X + yz +2x-2y-7=0 and x + yz -6Xx+4y+9 =0

touch externally. (5)

(b) | Use Vectors Method, prove that in any Triangle ABC,

a’ = b’+c’ - 2bcCosA (5)

Q.No.9 | (a) | ¢ Iv = aCos(Inx); b Sin (Inx ) prove that x EEZ + XF—Z +y=0 5
dx? dx (5)

(b) | A Parabolic Arch has a 100 m base and height 25 m. Find the height

of the arch at the point 30 m from the centre of the base. (5)

(=== = |
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Bahawalpur Board-2019
Paper 1l ( Objective Type) Inter ~A- 2019 Session (2015 -17) to (ZU17 = 1Y)

Time : 30 Minutes Inter ( Part 1)

Marks : 20

Note : Four possible choices A,B,C,D to each question are given. Which choice is correct fill that
circle in front of that Question No. Use Marker ar Pen to fill the circles. Cutting or filling two or more
circles will result in Zero Mark in that Question.

Projection of U = ai+bj+ckalngiis:(A)b(B)a(C)c (D) ath

K x i equals : (A) !I: (8) k (¢ 1 (D) o

Slope of tangent to parabola yz =4ax at (a,2a)is : (A) 3 (B) 2 (C) -1 (D) 1

Focus of the Parabola x° = day s : (A} {a,0) (B) (-a,0) {C) (0,2) (D) (0,-a)

The length of diameter of the circle xz-l-vz-dx—iz =0is :{A)6 (B) 7 (C) 8 (D} 9

The Graph of the Inequality ax + by <¢ Is
(A) Circle (B) Parabola (C) Straight Line (D} Half Plane

The perpendicular distance of the line 3x+4y+5 = 0 from the origin is
() 0 (B 1 (¢ 2 (O} 5

Equation of the line having slope -5 and y- intercept -7 s
(A) Sx+y+7 = 0 (B) 5x—y+7 =0 (C) s(;{}g =0 (D) 7x+y+5=0

When a line Intersects the y—axis at (0,4) then. Sintercept is  :
@\q (a) 2 () o0 (D) &

| | Slope of the Line Perpendicular to line $1 = is equal to :
N R RN
«’fr\\d 2 3 3
! | Solution of Differential E i E% = Sec?x is
(A)y = Cotx + ¢ = tanx + ¢ (C) y = Cosx +c (D) y = -tanx + ¢
b i [¥2 dx=122hen K = ? : " (A) 12 B) 16 () 8 (D) 4
) . 2198 et o) | iy x . _1VS
IJ_xz = {A) Sin~! > (B) sin 17-5 (€) Sin 1-5- (D) sin 1?
) _[Seczxtanxdx =
3 3
(A) Secxtan?x + ¢ (B) Lo 2+ ¢ (C) LT
= _‘_IX se X x __1_ x—1
} {If y = IneX, then = = (A) e* (8) ex < 1 (D] e
3
) | The Derivative of X3 w.rt. x% is equal to : (A) — (B) _x (C} — (D)

3x :<Ix2

(222 +3)5
- (A)( 2x? +3)* 20x (B) 20( 2x* + 3 )* (C) 15(2x* + 3)° (D) (2x? +3)° 100x

)

EWhich one is Leibniz Notation for Derivative of f{x)

d
w L @ f(x) © & o pi(x)

Lim -
x—:—l x+1x C%Pakutyorggom 0 (8) == (c} 2 (D) 1

)

If P Is perimeter of square and A is area then P =

(A) 2VA (8) 4A (0 4VA (o) A’
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Bahawalpur Board-2019

[ Mathematics (Subjective ) | Inter - A -2019 | Time 2: 30 Hours Marks : 80 | 3

Note:

It is compulsory to attempt any (8 ~ 8) Parts each from Q.No. 2 and Q.No.3 while attempt
any (9) Parts from Q.No.4. Attempt any (3} Questions from Part - I .Write same Question
No. and its Part No.as given in the Question Paper.

3
-

Part-1 pakcity.org 25 x 2 =50

Express the area’A’ of a drcle as a function of its circumference ‘C".

(Q.No2|
() | Define Odd Function and give an | (iii) Lim x¥a -va _ 1
Prove that ———
x-0 x 2Va
example,
(iv) | Find the derivative of f(x)=c by ) |If y= x*+ 2x2 +2 prove that
definition. d
Ez— = 4x,/y—-1
s dy . e {Vﬂl . . -1 £ P
(vi) | Find —= if y=+VJx+vx Differentiate COS™ " — w.rt. “x”.
(ill) | Differentiate x2Secdx w.rt. ‘ x*. | %) 1 g g % if y= a'x
() |Find y2 if y=25-34+43+x-2 | o) | Find —2 if y = xesn
dx
. dy . X
i s = —
(i) | Find -~ if y =
Q.No.3 | () |Find Sy and dy if y = vx when x changes fropo 4 to 4.41
{i) | Find the area above the x - axis and under the _c@\}} g/s- x2 fromx=-1tox=2
(i) | Graph the solution set of linear ineguality 2x + 1 > 0 in xy - plane.
d; dx %
™ | vyging differentials find 5= and T30 %Y + x = 4
(v) | Define the Definite Integral. \\’}b (vi) { Solve the differentlal equation
(fn\@ ydx + xdy = 0
li Cosx °% il
W) | e otate Tes (viil) | Evaluate [ xIn x dx
SinxIn
P\
(i) DeﬁneCornerﬁ?@ﬁglutionﬂegion. ™ | gvaluate [ Sectx dx
0~ 1 d ¥+ 1
aluat —dx CXNE Y — =
(xi) | Ev e f__ 2 (22-1)2 (xii) | Solve 2 oo x
.No.a | () | show that the points A(0,2),B(V3,-1) and C(0,-2}are vertices of a right
triangle,
(i) | Find equation of the line through-(-4,7) and parallel to 2x-7y+4 =0
ifi -7 S
i) Find angle from line with slope 5 to line with slope 9
(iv) | Find length of tangent from the point P(-5,10) to clrcle 5x 4 5y° + 14x + 12y~ 10 =0
| () | Find Vertex of Parabola (x-1)° = 8(y+2)
JI_M) Find Equation of Hyperbola with Foci (+4,0), Vertices(+2,0).
| ———y —
(vi) [ if AB=CD, find A if B{1,2)},C(-2,5),D(4,11) are given points.
(vii) | f u = ai+2aj-k, v=1i+aj+3k are perpendicular vectors, find value of a.
(ix}) | Find vector perpendicular to.each of vectors a= 2i+j+k , b=4i+ 2j -k
{x) | Find volume of parallelepiped determined by
u=i+2j-k,2=i-2j+8k , w=1-7j-4k
{x)) | Define Trapezium.
{xii) | Define Ellipse.
(xiii) | Define Directional Angles.
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Bahawalpur Board-2019
(Part-Il)

3.5

(a)

Discuss the continuity of f(x) at x =2

. . x* -1 2
o@fﬁlkmty.org %o f(x) = { s

3 x=2

| (5)

(b)

1
Discuss the function f(x) = Sinx + -2—fz_-6'052x for extreme values

in the interval {0,2m)

()

0.6

(a}

2x2
(x-1) (x41)

Evaluate the Integral f

(5)

(b)

Find the point three - fifth of the way along the line segment from

A(-5,8) to B(5,3) &
O

(5)

lo.7

(a)

2xy _
2y+1

Solve the differential equation %}

]

(5)

(b)

Minimize z = 3x +y @\Zb
Subject to the cons i@

3x +:5y 2

x + 6y

x20,y220

(5)

No.8

(a)

Find a joint equation of the lines through the origin and
perpendicular to the lines  x% - 2xytana - y2 = 0

(5)

(b)

Find equation of the circle of radius 2 and tangent to the line
X-y-4 =0 at A(1,-3)

(S)

No.9

(a)

Find the Centre, Focl, Eccentricity, Vertices and equations of diretrices
of

2 9t "
T o1

(5)

(b)

|Find a Unit Vector Perpendicular to the plane containing vectors

a=2i-6j-3k and b=4i+3j-Kk

Also find Sine of the angle between them.

(5)
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Bahawalpur Board-2018
Mathematics L.K.No - 919 [Paper Code No. 8197

Paper Il { Objective Type) Inter - A- 2018
Time Allowed : 30 Minutes Inter ( Part - 11)
Maximum Marks : Session (2014-16)to (2016-18)

u@ pakcity.org %n &

Note : Four possible cholces A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question

number.Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark In that question,

QM) x = a® and y = 2at are equations of a Curve then "t " is called :
1 (A) Variable (B) Constant (C) Parameter (D) Coefficient
ax
(2){1f y= ¢, then yy is: (A) adedx (B) ‘Z © 3¢ D) xe™
d .c Sec? Cosec? 2 2
(3) 45 (=Cotx) : (A) Sec™x (B) Cosec™x (C) — Cosec™x (D) — Sec“x
(4) | x = aCost and y = aSint are the Parametric Equations of a
(A} Circle (B) Parabola (C) Ellipse (D) Line
l
1 2
(5) i{v.|'I' n = A \|5 2 B Sec”x 1 _
dx (VTanx ) (A) ec x (lzm o (D) (SECX)

(6)

b -a -b
Slope of Line ax - by + ¢ = 0 is: [t\) o= T | T

m
(7)] If two lines are Perpendicular,then : (A) m—: =-14 (%.r =1 () mymy =-1 (D) mymy = 1
- O -
(8) |Both Relative Maximum and Relative Mini )alled in General
(A) Cr alue (B) Least Value (C) Relative Extrema (D) Maxima
(9) |The Coordinates of a point I’(x, rslated through the point Q'(h, k) then the coordinate of
P referred to new axes are

(f\) ,-k}(B}(x+h y+k)(C)(x-k,y-h) (D) (x+k,y+h)
(10) [ The Centre of the Circle(xD+ y? = : (A) (1,1) (B) (2,0) (C) (0.0) (D) (0,2)
(11) | A function which ismc maximized or minimized is called

{A) Subjective Function (B} Objective Function (C) Qualitative Function (D) Quantitative Function

(12) | x intercept and y intercept for the line 2x-yv + 4 = 0 are
(A) (2.-2) (B) (-2,-4) (O (-2,4) (D) (2.4)
2 2
(13) -x—z-- -::—2- = 1 is the standard equation of : (A) Ellipse (B) Circle (C) Parabola (D) Hyperbola
. d
(14) | The Solution of the differential equation 9% = .y s

dx
(A y = xe X (B) v = e * (O y = & (D) y = ce™

(15) 4

Sec X A) 1 @B 2 (© m2 (D) Iz

._r 1 + tanx
(16) [The length of the* Latusrectum of Parabola y2=4ax is : (A) 2a (B) 4a (C) 4ax (D) _ZY;
an | [x+3 24x - 3 3 3 . 3
W 2x+3f e @ TP @ EeaP O F(=+3)
(18) : Area of the Triangle with u and v itsside is : (A) ux v (B) %]gxxl(q u+.v (D) uy
(19) | A Unit Vector perpendicular to both u and v is given by :
u x
(A) uxy (B wu-v (O l; xv| @ |uxv|
1 -1

(20) J'.-—-dx = (A) 2 (B) = Q) -;1(- (D) Inx +c¢
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Roll No. 919- 000

Mathematics (Subjective) Inter-A-2018 Inter Part - Il
Time : 2 : 30 Hours | Session (2014-16) to (2016 -18) |Total Marks : 80

Note : It is compulsory to attempt (.8 - § ) b.ﬁls each from Q.No.2 and 3 while attempt any 9 parts from Q. No.4.
Attempt any (03) questions from Part II. Write same Question No. and its Part No. as givenin the question paper.

Bahawalpur Board-2018  part-1}  [Bx2=30]
1QNo.2 ;) Define Linear Function. (i) f(x)= x° differentiate by First Principle.

(iii) Find Derivative of y = (:c2 +5) x3 + 7) (iv) Differentiate Sin x with respect to Cot x
(v) Find Extreme Values of f(x) = xz-- x=2 (vi) Expand a* in Maclaurin Series.

(vii) Differentiate (Inx)* w.rt. x. (viii) Find y, if y= {x + ==

S

i 1 - CosB
(ix) Evaluate the limit Shmio—z
Sin“©

(xi) Find :—i £ y=In(x+{2+1)

(xii) Without finding f-‘l{x) state Domain and Range of f-l{x) if f(x) = Jx + 2

) If x=1-t>,y=3>-2 find -‘:-lz-

. S e e e e e . e . mm

Q.No.3 (i) Define the Convex Region. (ii) Use differential to approximate the value of \[17
(iii) Graph the solution set of 2x + 1 3 0. (iv) Solve the differ@! equation xdy + y(x=1)dx = 0

. N
(v) Evaluate J‘xe" dx (vi) E\'aluate@xtan x dx
<&
3

o%
(vii) Evaluate ‘_r o . %valuatc J’ Cos2x = 1 &
5 xz +9 @ 1 + Cos2x

x + 2

(ix) Evaluate J'. xllnx dx O@@ (x) Evaluate .Jq md"

" mtan" Ix
(xi)  Evaluate J‘ Ll (di) Evaluate ‘J‘ L dx
Q.Nod4 (i) Find the Coo

1+x2

nates of the point that divides the join of A(=6,3), B(5,-2) in the

ratio 21 3

(i) Find the Arca of Triangle with vertices A(1,4), B(2,-3) and C(3.,-10)

(iiiy Check whether the given point (-7,6) lies above or below the given line dx + 3y =9 = 0

(iv) Determine the value of .'l’ “ such that the lines 2x-3y=-1 = 0, 3x=y=5 =0
and 3x + py+ 8 = 0 meet at a point.

(v) Find Foci of Ellipse whose equation is xz + 45'2 = 16

(vi) Find " & " so that i+ (ok+ 1)j+2k | = 3

(vii) If v is a vector for which v.i=0,v.j=0,yv.k=0 find y

(viii) Prove that a x {h-i--c;] ¢ b % e+ 3, +

c-x (

(§-"]
+
|o
-—

u
o

=y
(ix) A force F = 7i + 4j =3k is applied at P(1,-2,3). Find its Moment about the

point Q(2,1,1)

(x) Define Rotation of Axes. O@ pak(:ity.org %ﬁ
(xi) Define Vertex of Parabola. €

—

(xii) Find Focus of TParabola yz = - 12x.

x - f .Elli N :
(il Define st 15it' 8% more data at: www.pakcity.org



Bahawalpur Board-2018

- ] Ml
ML.K.No. 919 | | Part - I}
m.‘J

N - x '
QNO-" (a) Prove that xle Sl 8 log,a o@pakmty.org%c

1
!
I
l
[
}
I
! (b) Differentiate from the Ist I’rinciple f(x) = Cosix
i
i
]
i

I X x
Q.No.6 (a) Show thaf‘r 2= xPdx = TSm 1;4- = i & ¢

l
I
I
(b) Find " h " such that the points A(V3, -1), B(0,2) and C(h,-2)

are vertices of a right triangle with right angle at the vertex " A"

R <@

Cos©G + SinG

g
Q.No.7 (a) Evaluate j‘ %
°C0529 %{\\{?

0

(b) Minimize = 3x %
Sub;;ﬂw Constraints

x + 6y =2

Q.No.8 (a) Find the Focus, Vertex and Directrix of the Parabola y2 = =8(x=-3)

(b) By Vector Method, prove that in any triangle

a b C

Sinec SinB - Sind

Q.No.9 (a) Find the Centre, Foci, Eccentricity , Vertices and Equations of Directrices

of Hyperbola 5 yz = 9
(b) Find Volume of Tetrahedron with vertices

Al 1:2): Bl3:2:1 ) s ClE:2.3 ), D50 .6)

]
1
I
]
I
l
I
1
'
[}
1
I
l
I
1
]
1
I
I
I
1
l
I
l'
!
l
I
1
l
I
1
)
I
I
l
)
1
1
1
1
I
1
1
I
1
]
1
1
!
1
}
1
1
I
I
i
i
1
!
I
1
1
i
!
l'
l
l
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